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4,900 pCi/g
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* From National Park Service’s “Radiation in the Environment”
HIGH LOW

Everyday Radiation
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=
At 50 pCi/g, a person would need constant exposure for 8 days to equal a normal chest x-ray.

Many materials emit small 
amounts of radiation. 
It is regulated as 
Normally Occurring 
Radioactive Material. 
When a human process 
disturbs the material, it is called 
Technologically Enhanced 
Normally Occuring 
Radioactive Material

(TENORM)
A picocurie is 
1 trillionth of a gram.

50 pCi/g
Michigan’s 

standard for 
TENORM

50 pCi/g
Michigan’s 

standard for 
TENORM

50 pCi/g
Michigan’s 

standard for 
TENORM

50 pCi/g
Michigan’s 

standard for 
TENORM

50 pCi/g
Michigan’s 

standard for 
TENORM

50 pCi/g
Michigan’s 

standard for 
TENORM

50 pCi/g
Michigan’s 

standard for 
TENORM


